B B IRFERY- B F- PP Y - EsEFEEN
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S EERMI20% (G- PER LI ENDEN, FHERHESA FHEA B AFE A
- BERVEEFILS CEBIBAI B ALL )

1. 5% a, b BEHE, c, dAmEE, AN IEME?
(1) a+c HiEHE  (2) c+d Rdrdy  (3) ac fdmEiEy  (4)cd FydmrE g
(5% a+c=b+d, Ala=b, c=d.
Ans : (1)
2. % a, b, c, dEFEEEHH a>b, c>d, Al TyHa[FEIEM?
(Mac>bd (Qa+c>b+d (3) §<% W a2<b?b Jal<p| (5)a—d>b—c.
Ans : (2)(4)(5)
3. BEFRREL f () =+-x* +2x+3, NFIEEEBRLL R ERER?

(D) f (e Sy {{ R|- 3EXE5} (2 f ()2 fEHsy { Yl RIOEYE 4}
Q) BRATAERETH X, WA TKEF(Q)  (4) kB f (QHIET Rl PIRey—& o7
(5) BB (X FiBerEL
Ans : (3)
4. 3% A={1,23{L2},B={L 2}, THIRGMLFEETFRH?
1A 21 B (3 Bl A 4Bl A B){B}I A
Ans - (1)(2)(3)(4)(5)

Z ~E AL 5096 (FHE54)
1. AR, HoT8ot2fE 20, BRI BUbR/NE, SRS =/ NS AL 0.54
— 8, R B

Ans z
13
2 ggz\/g- 2\23- 610+ 43- 202 EBE A B A, TEINEES B b, 1 =
Ans : 2
3 & IX+L+2iXi+3ix- 2i+ix- 4i=k, x g, Ak >HEE
Ans : k<9
4. Fra, bIgREE, & |lax+4|>biyiFf x<- 28x>6, AEHE (ab)= .
Ans: (- 2,8)
5w (X=X =
X- 2 X
AnS 3x- 2
2x-1
6. EXSHE : X +x+1 =

Ans : (X2 +x+1)(x*— x*+1)

®1H



7. x+y+z=5 X+ y +22=9, X'+ y° +2°=20, K xyz—

Ans: 5
8. 3 A={X|X+2|£3, X BEHE}, B={x||x—2013|£ k, x BHEE}, & A BHE, HI k{E1HE:
Ans : k3 2018
9. & 4096 F| 1000000 HYEZAEH, Koo VI EEGE L T 8A &
Ans : 1015

10. FEPEAEL 60 A, fEH—RIE IS ~ BB - (B2 E S, BORRER 40N, B EEEH
39 A, (BB RAEHTA 42 N, N3~ MR RARIVA 14 A, 822 - (LR RAEHTA 13
N, B~ ACEERRIS ASHVA 11 A, ARPFEREL_ B RASHVA 20 A, AlZ/DH—RES i
HAE___ A
Ans : 29

S EMATRAL 309, (LR TR 2, ITEEARFL R T E S A3, BRI A )
1. #% a b cEAABC=EVE, HiEa®+b°+c®- ab- bc- ca=0. ¥ a
SKAABC 2 HifE » (7 47)

+
O
+
o
1
O —

2. FIF (5++/23)° 81 (5-+/23)° AYRERAR, fliatH (5+423)° fY(H , 1541 RS M (i
ey on Bl n+1 2R, oK n= > (777)
Ans : 939

3. & x>0,y>0, H xy=12, 5K 3x+2y ZiwIME, WKIEFEFEE (X y) (453, 457)
Ans: 1242, (242, 34/2)

4. {EE © y=3X—1|+2[x+2|—4, WKy ZiH/IME ° (647, 257)
Ans: 2
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